SHM3EE £1H (6A) BEF BERRE

SEREFH IS EE &
TR & £ 218 2,034 9.3
& % 218 2,034 9.3
PR —RiEHM
J—R FE4 SEFH IS EE &

10 | 1120 M 1 10 10.0
10 | 1330 30 3 110 36. 7
10 | 1900 =Pe:ig 1 103 103, 0
10 | 2300 SR BT 19 80 4.2
10 | 2421 | &% (2DK) 1 57 57. 0
10 | 2700 RIS 1 2 6 3.0
10 | 2730 RIINHEE 2 1 2 2.0
10 | 2740 RINNHEES 3 2 4 2.0
10 | 2800 INEE 1 6 6.0
10 | 2830 INETE 1 1 1.0
10 | 2880 NEd 1 26 26. 0
10 | 2881 | /nEdk (2DK) 1 15 15.0
10 | 3110 E/NE R K 2 30 15.0
10 | 4010 -7 1 4 4.0
10 | 4100 = 1 10 10.0
10 | 4220 H ] 2 8 4.0
10 | 4300 AR 1 1 1.0
10 | 4310 AR 2 2 7 3.5




10 | 4631 FEHET 2 149 74.5
10 | 4640 F 1 17 17.0
10 | 4750 BrawTiE 1 10 10.0
10 | 4752 |&/7ae~7iE (2DK) 1 1 1.0
10 | 4820 ARFA 1 6 6.0
10 | 4871 AXREKB 1 8 8.0
10 | 4925 AR (2DK) 6 0 0.0
10 | 4926 AR (3DK) 6 1 0.2
10 | 5010 B/ 1 1 1.0
10 | 5200 =g 1 7 7.0
10 | 5201 =4 (EV&L) 1 0 0.0
10 | 5620 BAEE3 2 8 4.0
10 | 5631 | AEFE2 (2DK) 1 7 7.0

N E 68 695 10. 2




2R HFEHER
J— R FE4 HEFH SHEER fg=x

11 | 1330 IR 3R 2 13 6.5
11 | 1501 RET X C 1 4 4.0
11 | 2300 Al R T 2 5 2.5
11 | 2830 INETE 1 1 1.0
11 | 3111 | k/hEFfX (2 DK) 1 0 0.0
11 | 4100 = 1 0 0.0
11 | 4220 =hE 1 1 1.0
11 | 4631 FEHET 1 4 4.0

N F 10 28 2.8

2R FETHTER
J— R FE4 HEFH SHEER fg=x

1B | 1910 | HiER CEAE) 2 22 11.0
1B | 3510 |LFEA#EN CEAE) 1 1 1.0
1B | 4610 | T4HIH (EAE) 2 1 0.5
1B | 4650 | F4F¥kr (ERE) 1 10 10.0
1B | 4930 | FHIIR (CELXE) 2 1 0.5
1B | 6b30 B¥ CEAE) 1 3 3.0
1B | 6240 [HBEZE)| (EAE) 1 7 7.0

N E 10 45 4.5




2R IRk - BEH5ER
J—FR FE4 HEFH SHEER fg=x

1A | 4300 o (713 1 6 6.0
1A | 4500 SR ( 4 11 2.8
1A | 4800 AR 2 0 0.0
1A | 4850 BAEHE 2 2 1.0
1A | 5300 =L 9 6 0.7
1A | 5600 RS 5 6 1.2
1A | 5610 RS2 1 0 0.0

N F 24 31 1.3




2R w6 (G - EE)

J— R FE4 HEFH SHEER fg=x
12 | 1501 RET X C 2 35 17.
12 | 1600 #iE 1 27 21.
12 | 1700 /NH 1 6 6.
12 | 1800 H S 2 17 8.
12 | 2300 Al R T 3 14 4.
12 | 2600 At 0 4R BT 1 4 4.
12 | 2700 F NS 1 1 2 2.
12 | 2710 PN AL RR 58 2 1 3 3.
12 | 2740 NS 3 1 1 1.
12 | 2750 [ B 1 4 4.
12 | 2820 INEEE 3 1 4 4.
12 | 2941 |[/hE%1B (2DK) 1 1 1.
12 | 3100 E/NEF 1 12 12.
12 | 3500 R A 1 21 21.
12 | 4100 = 1 7 7.
12 | 4200 TEER 1 0 0.
12 | 4210 TEEEH 1 12 12.
12 | 4750 BrawTiE 1 12 12,
12 | 4820 ARFA 2 4 2.
12 | 4890 ARE 1 3 3.
12 | 5010 B/ 1 2 2.
12 | 5030 E/TIEm 2 0 0.
12 | 5200 =g 1 3 3.

N F 29 194 6.




TR HEEM

J— R FE4 HEFH SHEER fg=x
14 | 1412 X& (1DK) 3 302 100. 7
14 | 3010 =A 3 53 17.7
14 | 3300 PUE ] 1 22 22.0
14 | 4300 o (713 6 33 5.5
14 | 4601 F4ERiIH 4 9 2.3
14 | 4850 BAEHE 1 0 0.0
14 | 4924 AR (1 DK) 14 12 0.9
14 | 4925 AR (2DK) 8 13 1.6
14 | 5412 # (1 DK) 1 48 48.0
14 | 5500 B X 1 1 1.0
14 | 5510 m¥EE2 2 8 4.0
14 | 5600 RS 3 4 1.3
14 | 5610 RS2 2 11 5.5
14 | 5700 g )lea 1 4 4.0

N E 50 520 10. 4
PR ZREHETH

J— R FE4 HEFH SHEER fg=x
15 | 4210 TEEEH 1 3 3.0
15 | 4750 BrawTiE 1 1 1.0
15 | 4923 AR 2 1 0.5
15 | 6100 B2 1 3 3.0

N E 5 8 1.6




R VILN—NHITVH (BEEMA)

a—R F=E4 S8FY IEEER fE*x
17 | 2420 =it 1 109 109.0
17 | 4600 T4 H1H 1 75 75.0
17 | 4911 IR 1 29 29.0
17 | 6710 Lt#H 1 74 74.0
17 | 7030 |54 XFRT7E () 1 32 32.0

N Hi 5 319 63. 8
TR VILN—NITUST (HERE)

a—R F=E4 S8FY IEEER fE*x
18 | 1900 A EHT 1 21 21.0
18 | 3600 BRIDEE (48) 1 8 8.0
18 | 4420 *ER=H 1 14 14.0
18 | B240 |/5 v T4 —LEE () 1 0 0.0
18 | 6340 EPEINEY: 1 13 13.0
18 | 7040 |yr37LvEATE () 1 12 12.0

N Hi 6 68 11.3




2R

FHIZR ()

O—R FE4 SEFH ISEEH fE=x
20 | 2300 A R T 1 10 10. 0
20 | 2600 JehniE R By 1 2 2.0
20 | 2700 EAhnAESs 1 1 0 0.0
20 | 2840 INEET 1 1 1.0
20 | 4100 ] 1 0 0.0

N 5 5 13 2.6
BR BHRR (NRE - BEER)

O—R FE4 SEFH ISEEH fE=x
2A | 4300 1 1 4 4.0
2A | 4800 AR 1 0 0.0

INE 2 4 2.0
BF BHURR (HHEM)

O—R FE4 SEFH ISEEH fE=x
24 | 2212 ME (1 DK) 1 47 47.0
24 | 2912 KER (1 DK) 1 55 55.0
24 | 5510 B¥EE2 1 3 3.0
24 | 5600 BREE1 1 4 4.0

N =t 4 109 27.3




